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Note :
=
(i)  Answers must be written either in English or in Marathi.
(i)  Question No. 1 is compulsory. Of the remaining questions, attempt any four selecting one question
from each section.
797 FHiF 1 ares g IART YA Fivragt IR QS T §AF 9P Tk F97 Hag
TSl STaTTF 3.
(iti}  Figures to the RIGHT indicate marks of the respective question.
(iv) Number of optional questions upto the prescribed number in the order in which tkey have been
solved will only be assessed. Excess answers will not be assessed.
w1 A (it aEivda varat serae GiEfad) o, daei JITHE quhe g, AR Ju
TaTEICA! S TR,
(v)  Credit will be given for orderly, concise and effective writing.
Tz, SR § IROPERF fr@rd 47 foel Fgel,
(vi) Candidate should not write roll number, any name (including their own), signature, address or any

indication of their identity anywhere inside the answer book otherwise he will be penalised.

QUR foie 7Y% & T4 99 @l R I 3

P.T.O.
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1. Answer any four of the following (10 Marks each) : 40
QAT Yeht w107l A WA I A
(a) Critically evaluate ‘the compensation principle’.

(b)

I T FreRIcqs TOe .

“The causes of the inflation in India are lying in excess demand and scarce supply”.
Explain.

" yRaTTE Wi o Sfafe Tl 9 [ese qeasT wEeet amta’! wWe
1,

How external public debt is more burden some than the internal public debt ?

ATEA WS hfl= 9R ferta Freiwien wstiien ST w5 oraa) 2
Explain Adam Smith’s contribution to the development theories.
T fagiarie sfen fares) Irem qusem wim,

Critically evaluate Mrs. Joan Robinson’s Model of Capital Accumulation with
reference to developmental theories.

S elt-aee wieae Suer=a1 WiqumTs famm faesiaren deuly ST Them .

SECTION - A
faum - A

2.  Answer the following sub-questions :

I ITYTATE S W -
(@) () Explain the law of equimarginal utility. 5
rfamia Sudifiaen fasga wmengs =i,

(i) “As the proportion of one variable factor keeping other factors fixed is 5
increased after a point, the average and marginal production diminishes.”
Prove.

" TR ST T YO S W R ST T Tl aeeary auEd g
Tl I wea " fa
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(b) Draw the long run average cost and marginal cost curves and explain their 10
relationship with any hypothetical example.

HIVETE Teh! FICHF SCTEIHE SRl TS TH o6 T Hid @™ 956 g
T TR Gy WY 0.

(c) Explain liquidity preference theory by Keynes. 10
= A e i aesgd o,

(d) Explain various measures of Central Tendency with their merits and demerits
with any hypothetical example. When they should be used ? 10

eyl AT FIUATAT ATl LR VRN FIed- e Saslumg S8 F4. &
Tegdier AT Shegl el Wl ?

Answer the following sub-questions :
el SUgeET Su Tt
(@) (i) Analyse the price effect with reference to normal goods. 5

(ii) Explain the concept of returns to scale with isoquant. 5

T S GRS TR YH Gl Hehed T WHSES .

(b} How a firm in the group of firms producing cosmetics with product differentiation
attains an equilibrium in the short run with supernormal profits ? 10

FIEATT IR FOMA SHF SURA T IcurH S<el HITH 3iT T STTHET
e wy aAfafi® T wa fieed ?

{c) “Economic Rent is the surplus over transfer earnings.” Explain. 10

(d) Explain how standard deviation is better method of dispersion. 10

T faerer=t vied € fameren edins S Sl Syl &8 9 T H,

P.T.O.
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SECTION - B
fumr- B
4.  Answer the following sub-questions :
T SUwEE I fo -
(a) (i) FElaborate on any one method of the national income accounting. 5
TR STFHTGA 0T Tk qed Feole |,
(i) Explain Cash Transactions approach to the theory of money. 5
1 fagiardiel Jadl Haer GEEH GasiiEH .
(b) Give the summary of the Keynesian General Employment Theory. 10
Fr=AT IS FETERo faegr e 0.
(c) Discuss Samuelson’s theory of business cycles. 10
HreraTa1 SANREshET faegid TE =T,
(d) How economy reaches to the equilibrium with 15-LM Model ? 10
RS sreforaen S suft S 3 WieHH=A TR HIer il [ ?
5. Answer the following sub-questions :
Ereltel 39 Y S fee -
(a) (i) What are the problems in the measurements of national income accounting ? 5
TE IUANIATRNE SISTUt IO ?
(i) FElaborate on the important functions of money. 5
et AR Y fa W 4.
1
(by IEMPC= 5 Autonomous Investment = 10,000 Crores in the initial period, explain 10

the process of investment multiplier.

m%ﬂuﬁmﬂﬂﬂwﬁﬁ(wcpg I8 anfoy Geari= e aavEs 10,000 HE
3R T FRIM Taaoeh O] UEdd W .
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(c) Discuss the trade cycle theory by Hicks. 10
Srag=n SREHE (| T8 1.
(d) How Mandell-Fleming Model explains the internal and external balance ? 10
e — T SRS W S @ 9 Sga Y e i @ W w0 2
SECTION - C
faumr - C
Answer the following sub-questions :
wreltel IoyerE I fow
(@) (i) Whatis the role of the public finance in the market oriented economy ? 5
AR 1efeaedd e fadre it T S 2
(i) Analyse the functions of the RBL 5

figree sl B ESIE W,

{b) “There has to be proper combination of direct and indirect taxes to be more 10
effective.” Explain with reference to their merits and demerits.

‘e T AR BT A T A T TROERE YA s
oA T YNTHE TIE HA

(c) Explain the composition of the Indian Capital Market. 10
YRAT Higerel SRS AT JHSTE .
(d) Which money market reforms are introduced in India ? 10

YR TR 10T GERUN e Sl et 2

Answer the following sub-questions :
IS 39 T S

(@) (i) Write a short note on the government's disinvestment policy. 5

e FriderEren o e A fo,

P.T.O.
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(iiy ~Which selective credit control instruments are used by the RBI ? 5
WRHG ered sl v Toneres TafEEAvIe S S e ?
{b) What are the causes behind the growth of public expenditure in India ? 10
WA WIS S SIGUarm wive R0 oy ?
(c)  Analyse the features and defects of Indian Money Market. 10
HIETE qRarar 3 7 < @y w0,
(d) Explain the role of SEBI in capital market reforms in India. 10
Tl (SEBI) WA wieael siRmdter yfive fave &,
SECTION - D
fawm - D
8. Answer the following sub-questions :
Gl SugerE] S e
(@) (i) What are the good and bad effects of development on environment ? 5
forehrare wHferoneR SHvR =TS 9 SRz TR S ?
(i) Explain the importance of foreign capital and technology for India. 5

W Higad § g9 YRAE T gee e o,

{b) What is the theory of demographic transition ? How far it is proved to be true in
India ? 10

THHEA YHHT= FHegia T8 0. ) I sedi T A6 Tee S ?

(c) Explain Ricardian Theory of international trade. 10
(d) What are the functions of the World Bank ? 10

W et HE RO ?
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9.  Answer the following sub-questions :

i Y9 W foR

(a)

(@)

(i)

Explain the concepts of Per Capita Income, and Social Welfare Indicators 5
in the form of basic needs as the indicators of development.

TSR I ° ISR el FEwe, YEyd TR g Saed faewmrea fews
N T WHSIA 0,

“Entry of MNC's have its merits and demerits for India.” Discuss. 5

I U WRAKIE AT SRAT T8N e § dreared o, =

. .

Explain the concepts of Human Development Index and Human Poverty Index. 10

e faer fadaies 9 AmeEt Siftea fdsisrean ey g &,

How Heckscher - Ohlin Theory explains the possibility of global trade ? 10
FRT- ST FAeRia SAfagia sArro=h yrerrd sl T8 w2

What is the role of IMF in developmental activities in the world ? 10

SIS TeRTErea SIAed STaUsg Hereniar= e % AE ?

=000~
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